


4~2 Slope

Vocabulary Vocabulary meaning...
Slope Rate of change between any 2 points on a
| line
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To find the slope of a line, find the ratio of the change in y
(vertical change) to the change in x (horizontal change).
_ changeiny

slope :
change in x
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‘l‘hellnedsesfmmleﬁmﬂght. The line falls from left to right.




Real life application

What is the slope?
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Method 1: Use the two black points. e

Method 2: Use the two pink points. e
Do you get the same slope using each method? Why do you think

this happens?
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Example 2
Finding slope
 Steps Solve

RUN*3

RISE/RUN=2/3
T~ NEGATIVE SLOPE
I/ M=(-2/3)




Work with a partner. Use the ¥ TT]
figure shown. E(15, 12)/
a. AABCis aright triangle 5
formed by drawing a
horizontal line segment
from point A and a vertical

—
—

=
kY

line segment from

D9, 6)
yul
point B. Use this method »
to draw another right A6, 2/)/ [-c
. p 6 2)
triangle, ADEF. 7
b. What can you conclude 7|/1 23 456789101 12131415l6x

about AABC and ADEF?
Justify your conclusion.

¢. For each triangle, find the ratio of the length of the vertical side to
the length of the horizontal side. What do these ratios represent?

d. What can you conclude about the slope between any two points
on the line?
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Work with a partner. Use the figure
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a. AABC is a right triangle ? Tttt 4
formed by drawing a . I R O B O
horizontal line segment 7 44+ lﬁ’.d/ 4 )
from point 4 and a vertical . T TTT 7T —
lme segment from poant 8. 3 - ) “‘ F(15, 5)'
Use thes method 1o dranw » "'\"'f"[‘
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b. What can you conclude about AABC and ADEFT Justify your conclusion.

They are similar.

c. Far each triangle, find the ratio of the length of the vertical side 1o the
length of the harizontal side. What do these ratios represent”?

;;the slope of the line between points A
and B and between points D and E

d. What can you conclude about the slope between any two points on the line”
Sample answer: It is constant.




* Work witha partner.
a. Draw two lines with slope %. One line passes through (-4, 1), and the other

b.

line passes through (4, 0). What do you notice about the two lines?
Draw two lines with slope —%. One line passes through (2, 1), and the other

line passes through (-1, —1). What do you notice about the two lines?
CONJECTURE Make a conjecture about two different nonvertical lines in
the same plane that have the same slope.

Graph one line from part (a) and one line from part (b) in the same
coordinate plane. Describe the angle formed by the two lines. What

do you notice about the product of the slopes of the two lines?

REPEATED REASONING Repeat part (d) for the two lines you did not choose.
Based on your results, make a conjecture about two lines in the same plane
whose slopes have a product of - 1.




‘Work with a partaer.
a n-n-ﬁ--u_—% One line
passes through (—4, 1), and the other line

passes through (4, 0 ¥
about the two lines?

b hﬂlmuhﬁp—;!thlh

e )
for the two lmes you did mor choose. Based

limes i
product of —1.

They are perpendicular.
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Example 1

Finding the slgpc of a line
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Describe the slope of the line. Then find the slope.
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